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data;
input x x1 vy;
X2=X**2;
xX3=x1**2;
x4d=x**x1;
cards;
1 4 6.3
3 6 11.1
5 8 20
7 10 24
9 7 21
11 5 18
13 3 16
15 2 14
1 12

17
proc reg;

model y=x x2;

model y=x x1 x2 x3 x4;
model y=x x3;

model y=x x2 x3;

run;
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data a;

input x y;

cards;

200 22

250 27

300 43

350 60

400 95

450 135

proc nlin;

parms a=5 b=0.008;
model y=a*exp (b*x);
run;

proc gplot;

plot y*x;

run;



data a;
input x y;
x2=10g (x) ;
cards;

200
250
300
350
400
450

’

22
27
43
60
95
135

proc reg;

model y=x2;
run;
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data a;
input x y;

x2=10gl0 (x) ;

cards;

200
250
300
350
400
450

’

22
27
43
60
95
135

proc reg;

model y=x2;

run;
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